Searching for disturbances in the tophat scan (30° elevation angle)

Filtering data for clearsky Intervalls of 120 s
Looking for the minimum of each scan
Calculating measurement(azi) — min(scan) for each azimuth of each channel

In what percentage of cases is the difference less then 1K?
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17 days of 2020

Wahrscheinlichkeit [%)]
100

.
i
1
<
o
m
&
@
x

50 100 150 200 250
Azimut-Winkel




300
300

200
Azimuth-Winkel
Kanal 10

200
Azimuth-Winkel

100
100

-

M
— b

(=] o o =] o

=} =1 o
o o0 w = o~
-

™

—

[o] ueduoluIByISIUBM [55] ueduolUIBYOSIUBM

E m
=3 (=] o o o
= «© w = ™

300
300

200

200

Azimuth-Winkel
Azimuth-Winkel
Kanal 14
Azimuth-Winkel

100
100

o o o o o (=]

o (=] o o =] o
= w© w =< ™

© w =T ™

=

[35] nayyonuBLYISIYEMM [95] ey UL YOSIYEAA [25] nexyon UL YoSIYEAA

3 A
8 8 8 8 R

300
300

300

200

100

Azimuth-Winkel
Kanal 13
200
Azimuth-Winkel

100

100

(=] o o =] (=] l=]

(=] f=] f=1 =] (=]
w0 w = o~

o
o 5] (=) = o~
-

—

[2] MesuoIuBYOsIyEM [9%] MeuoIuBYOSIYEM [2%] Meyu2I e YosIyEM

<

}
===

300
300

—
o
-
O
S
Q. 3
t -4 mK
(Vg
S
=
Q
<
T

200
Azimuth-Winkel
Azimuth-Winkel

Kanal 12

200

Azimuth-Winkel

100
100

=] o o (=] f=] (=] (= (=] f=] (=] [=} o
ﬂu 8 6 4 2 G 8 6 4 2

[%] ueduoluIeyosIUBM [35] ueduoluIeyOSIUBAA [%] ueduonuIeyosIyEM

=] o
o

300
300

300

3
}

200
Azimuth-Winkel

200

Kanal 11

Azimuth-Winkel
200
Azimuth-Winkel

100
100
100

—

ol

(=3 o o o o (=] o o o (=} f=] o =1 o o = =] o
nu 8 nnu 4 2 ﬂu 8 6 4 2 0 8 nﬂ 4 2

[35] neyyonuUBLYISIYEM [95] ey yonuUIBYISIYEA [2] wosyon UL YasIyEAL




02.04.2019

200

Azimuth-Winkel

Azimuth-Winkel

200

Wahrscheinlichkeit [%]

03.04.2019

200
Azimuth-Winkel

05.04.2019

Kanal 1

200
Azimuth-Winkel




300
300

200

200

Kanal 10

Azimuth-Winkel
Azimuth-Winkel

100
100

L= =] L= (=]
o ==] w =

=

[o] ueduoluIByISIUBM [9%] ueyoluIByosIyBAL

=3 (=] o o o
= «© w = ™

—

[35] nayyonuBLYISIYEMM [95] ey UL YOSIYEAA [25] nexyon UL YoSIYEAA

o = f=] =] b=
o o w = o~

b= o
™

300
300

200
Azimuth-Winkel
Azimuth-Winkel

Kanal 14

200

Azimuth-Winkel

100
100

o o o (=]

o e o o =] o
™

«© w < ™

300
300

300

200
200

Kanal 13

©
T
c
G
-4

Azimuth-Winkel
Kanal 8
Azimuth-Winkel

200
Azimuth-Winkel

100
100
100

o o =] o

=1 o
o Lo w =T ™
—

=1 (=] f=] f=1 =] (=]
o o w =r ™
)

—

[%] nexuolueydsIyem [%] wexuoluIYosIY B [%] wexyoNuIB YOS B

<

o o f=] (=] (= o o o o o

= (=] [} o
=t o~ o == w =t o o © w <

[%] ueduoluIeyosIUBM [35] ueduoluIeyOSIUBAA [%] ueduonuIeyosIyEM

300
300

200

Azimuth-Winkel
200

M)
-
LN
i
=
S
@)
-
O
O
Q
(Vp)
)
-
_l

Azimuth-Winkel
Kanal 12
Azimuth-Winkel

100
100

=] o
o

300

300
300

3
}

200
Azimuth-Winkel

200

Kanal 11

Azimuth-Winkel
200
Azimuth-Winkel

100
100
100

o o (=] o o o (=} f=] o =1 o o = =] o
w b ™~ (= == w = ™ o == w = ™

[35] neyyonuUBLYISIYEM [95] ey yonuUIBYISIYEA [2] wosyon UL YasIyEAL




Wahrscheinlichkeit [%)]

200
Azimuth-Winkel

11.09.2019

Wahrscheinlichkeit [%]

o

100 200
Azimuth-Winkel

300

Wahrscheinlichkeit [%]

o

Kanal 4

100 200
Azimuth-Winkel

12.09.2019

Wahrscheinlichkeit [%]

o

300

Kanal 5

100
Azimuth-Winkel

300




300
300

0

20
Azimuth-Winkel
200

Kanal 10
Azimuth-Winkel

100

—

f=]

L= =] L= (=]
o ==] w =

=

[o] ueduoluIByISIUBM [9%] ueyoluIByosIyBAL

o o o o o o (=] o o o
= w© w =< ™ o © w =r ™

i =

[35] nayyonuBLYISIYEMM [95] ey UL YOSIYEAA [25] nexyon UL YoSIYEAA

(=] =] (=] =] o = f=] =] b=
w0 w = o~ o o w = o~

[=]
[%] nexuolueydsIyem [%] wexuoluIYosIY B [%] wexyoNuIB YOS B

W <
o o o o o o o o
© © % S ® & =

b= o

=} o o L= =]
o o0 w = o~ o
_—

300
300

200
Azimuth-Winkel
Azimuth-Winkel

Kanal 14

200

Azimuth-Winkel

100
100

o o e o o =] o

«© w < ™

300
300

300

200
200

Kanal 13

Azimuth-Winkel
Kanal 8
Azimuth-Winkel

200
Azimuth-Winkel

100
100
100

=1 (=] =1 (=] f=] f=1 =] (=]
o o o w =r ™
-~ -~

—

300
300

200

200

M)
O
o0
—
ko .
© K
5
Rl
N
4
Q
N
_l

Azimuth-Winkel
Azimuth-Winkel
Kanal 12
Azimuth-Winkel

100
100

=]
[=}

[%] ueduoluIeyosIUBM [35] ueduoluIeyOSIUBAA [%] ueduonuIeyosIyEM
o

[} j=] [} =]
o 0 w =T ™~

[35] neyyonuUBLYISIYEM [95] ey yonuUIBYISIYEA [2] wosyon UL YasIyEAL

(=] (= o o o o o

=] (=]
= «© w = ™~

o

300
300

300

3
}

200
Azimuth-Winkel

200

Kanal 11

Azimuth-Winkel
200
Azimuth-Winkel

100
100
100

o o o o (=} f=] o =1 o o = =] o
= == w = ™ o == w = ™




Azimuth-Winkel
Kanal 10
200 300
Azimuth-Winkel

100

(=]

o
8
5 4
&
o o o o o
© © ¥ o

p=} p=] (=] o (=]
w w = o

[%] euonuIeYIsIUEBM [%] yesuonuieyasiyem

o o [ f=] o f=] j=] o o
o 0 w =+ o ©0 L= = ™~

[95] yexuonUIBYISIYEA [25] yexyonuIBLISIYBAN [95] vexyuonuIBLYISIYEAN
o [=] f=] [=] (=]

(=] (=] o o o o (=] =] (=]
0 w =+ o~ w w =T o™ = «© w - ™
-—

[95] yoxyonUIBYDSIYEA [95] ¥oxyonuIBYDSIYBAN [95] Moy yonuIByasIyEAN

f=1 p=] =} o =1 p=] (=] =]
o0 w = o w0 w = ™
=

[%] wesuonuIYIsIUBM [%] wesuonueYIsIyBA [26] weruoluIBYOSIUBAN

m ) W
p=1 =2 o =] f=1 = (=] =]
@ © T N © © T ™

o L=
o

300

Azimuth-Winkel
200
Azimuth-Winkel
Kanal 14
Azimuth-Winkel

100

o o o o o (=]

o [=} fe=]
o (=} @ w = ™
—

Azimuth-Winkel
Azimuth-Winkel
Kanal 13
Azimuth-Winkel

o o o o
o o

@)
—
-
@\
G
O
(g
>~
(q0]
O
™~
—

Azimuth-Winkel
Azimuth-Winkel
Kanal 12
Azimuth-Winkel

L= o k= o (=] = o o =) o
o o (=] o w = ™

300

200
Azimuth-Winkel
Azimuth-Winkel

Kanal 11
Azimuth-Winkel

100

o e o o o o

o f=
< o =] (=] = o™~
=

[%] wesuonuRYIsIUBM [%] wesuonueyIsIyBA [%6] weruoluIBYISIUBAN




